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DIVISIBILITY BY 12

TABLE–SELECTION GAME

Select one or more correct answers for each of the questions in the test and press
the Finish button at the end. The answers will be validated automatically.

Warning: The interactivity in this PDF file is enabled by
Javascript. For full funcitonality you have to use the Javascript
capable PDF browser. Currently only Adobe Reader is
available.



FINISHSCORE

Of what value must ρ be, so that the given number is divisible by 12? From the answers offered, select
all the correct ones.

1. 1234ρ5672 0356 0356 0356 0356

2. 564733ρ84 2578 2578 2578 2578

3. 342214ρ676 1425 1425 1425 1425

4. 567ρ87324 0369 0369 0369 0369

5. 267ρ8700032 1760 1760 1760 1760

6. 2ρ0000328 3468 3468 3468 3468

7. 287ρ8700000 1354 1354 1354 1354

8. 2644370009ρ2 2358 2358 2358 2358



Wow! Do your friends by any chance call you
Wolfram or maybe Alpha?

Wow, what a wonderful job! Just be careful about
an alcohol party before an exam. You could

damage your brain cells.

Perfect, keep it up!You can go celebrate!That was excellent!It almost couldn’t have been better. Almost.A small step remains,
next time will be glorious!

You are so close!
You just made a misclick.

Good work, have a biscuit.Great! Only millimetres
away from perfect.

Not bad! In some areas you haven’t got enough
knowledge yet.

You can do better! You have to work harder!Making mistakes is better than faking perfection.It’s not bad, but you can do better!To be average, or not to be average?
That is the question.

You may not be a future Fields Medal laureate,
but you can do better on this test.

Could be worse!Hey, it could be worse, right?That was a close shave! Study more, next time
you might not be that lucky to pass.

You made a lot of mistakes.
You aren’t good at this yet.

For this test - the goose is in the oven!
Try another test.

The awkward moment, when you finish a math
problem and your answer isn’t even one of the

choices. . . .

Mission failed. We’ll get them next time.We should blame the weather!Most of your answers
were unfortunately like π — irrational.

You’ll be better next time.

Correct answers:




